Fig S1a Distribution of the number of scars for cells in an exponentially growing culture
(plated on a glass slide) and those initially loaded underneath the pensile columns of
different sizes. More than half of the cells initially loaded underneath the pensile columns
have less than 2 bud scars.

Note: the number of scars here includes the birth scar, thus the number of bud scars = the
number of scars -1
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Fig S1b Distribution of the number of scars for cells in an exponentially growing culture
and those loaded underneath the pensile columns, with data from pensile columns of
different sizes combined.
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